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5a. Use the information given to answer
the questions below.

4+4+4+4+4+4+4+4+4+4+4+4=48

8+8+8+8+8+ 8=

12 x 4

48

48

¢

5b. Use the information given to answer
the questions below.

4+4+4+4+4+4+4+4+4+4=40

8+8+8+8+8-=

10 x 4 = 40

40

W

6d. Use the image below to solve the
calculation.
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éb. Use the image below to solve the
calculation.

(a3 s G e
COCO0)

8 x 7 = 8 x 6 =
7a. True or false? 7b. True or false?
92
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e 8 x 8 =54 e 8x12=92

8a. Use <, > or = fo complete the
inequality statements below.

8b. Use <, > or = fo complete the
inequality statements below.
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5a. True or false?

32

W

5b. True or false?

54

W

6a. Complete the calculation to match
the representation.
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é6b. Complete the calculation to match
the representation.

TLLE

ﬁ + 8 =

7a. Complete the bar model to show the
calculation below.

4 + 8 =

64

W

7b. Complete the bar model to show the
calcvulation below.

32 + 8 =

32

W

8a. Create two number sentences using
the cards below.

8 = 5 2| 40 =

40

W

8b. Create two number sentences using

the cards below.
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